fiNm & [TEXEERS) OHR

e KERKBRSEREE

#e IXRAKESERE i
20 smm
 PEERESEE tEAREERES
15 2000

15 L. 14 1,640

“ko__ 12 £--.1533 1444 1392 1364
Teeo 11 150 S R L S
ok, 10 LAAAAAAAAAA

10 =Y

] ’ 46.93 4?26_5

4&%62\%&3%\4:8 il 3767 |
26.47 3025 [grgae

234/ 24%[E 255F 26FE 274#E

234 245 268F 26FFE 27HE

(4t -{8F) (st 8F)
2% | 244 | 25%E | 204K | 274K 23%[E | 204 | 254 | 26%E | 274K
wRE | 401| 462| 396| 496 418| | mEm | 2647| 3025| 3767| 4693| 47.26
%R T
spemg| 19| 14| 12| 10| |smems| 1640| 1533| 1444| 1392] 12364

A:
i i BHEERE
50
0
=50 \
» m%ﬁ*ﬁﬁﬁ%mJ//
A 123.39
-150
23FE 24FFE 255 26HE 27K
(g f8)
235E 245 E 255 & 265FE 275E
SRz 788 | 1664 | 3674 |A 12330] 248
SRR
REERS 0 0 0 0 0

X EEIIFEM 1 SEELEESLL



